
l;=g= of]hgf , cfof]hgf, lqmofsnfk /sd s}lkmot 

!= vfu/ u'Daf vfg]kflg cfof]hgf – sfO{s] !  500000.  

@ sf]nfju/ b]lv sf]nf ufpF;Dd df]6/ af6f] – sfO{s] ! 5500000.  

#= 5f]O{sfd vf]nf nu'hnljw't cfof]hgf – sfO{s] ! 754000.  

$= zx/tf/f b]lv SjfF ;Dd 3f]8]]6f af6f] lgdf{0f –  sfO{s] @ 1750000.  

%= zx/tf/f b]lv ;]b]n ;Dd 3f]8]6f] af6f] lgdf{0f – sfO{s] @ 1780000.  

^= zx/tf/f b]lv b'\\Nof ;Dd s[lif{ ;8s lgdf{0f – sfO{s]  @ 500000.  

&= ofnfsf]6 vf]nf n3'hnljw't cfof]hgf – sfO{s] # 

 

10000000.  

*= ;'Gb' b]lv ;"r{ ;Dd 3]/faf/ -kvf{n lgdf{0f_ – sfO{s] # 3100000.  

( e]n'jf vfg]kflg cfof]hgf – sfO{s] # 1000000.  

!)= 7"nf]le/ b]lv l;d ;Dd -:ofp  kmf/d_ 3]/faf/ – sfO{s] $ 1500000.  

!!= s/];faf/L kmnkm"n v]lt 3]/faf/ – sfO{s] $ 2500000.  

!@= vflgu'Daf kvf{n lgdf{0f – sfO{s] % 2100000.  

!#= ;]tf]ª o'ª\8'ª ;'S5n u'Daf ltg sf]7] ejg lgdf0f{ – sfO{s] % 1600000.  

!$= ;fd'bflos ejgdf @ sf]7] ;f}rfno lgdf{0f – sf|O{s] % 300000.  

!%= 5'kf{ b]lv u'Daf ;Dd 3]/faf/ -kvf{n_ lgdf{0f – sfO{s] % 500000.  

!^= 6fs'd b]lv cf]sf/f ;Dd 3]/faf/ -kvf{n_ lgdf{0f – sf|O{s] % 2000000.  

!&= Jof;Fuf8 vf]nfdf t6aGw lgdf{0f – sfO{s] ^ 600000.  

!*= JofF;uf8 d:6f yfg lgdf{0f – sfO{s] ^ 200000.  

!(= jg7f8f :ofp, cf]v/ kmf/d lgdf{0f  3000000.  

@) /flgjg ;+/If0f – sfO{s] ^ 1500000.  

@!= :jf:Yo rf}lsdf ;f]nf/ h8fg – sfO{s] ^ 60000.   

@@= Joj;flos s[lif{ ;DjlGw k|lzIf0f tflnd sfo{qmd  ^ 340000.  



@#= elQm yfkf cfwf/e"t ljBfnodf afnaflnsfnfO{ kf]zfs ljt/0f  200000.  

@$= :jf:Yo ;DjlGw r]tgf d"ns sfo{qmd  ^ 100000.  

@% l5ld sf]ª\df b]lv ;'ltl/ ;Dd 3]/faf/-kvf{n_ lgdf{0f – sfO{s] 

&  

2400000.  

@^ blnt6f]n b]lv gfª\df ;Dd :6f]g lklrª – sfO{s] & 1000000.  

@& 8fjf b]lv p?6f]n ;Dd vfg]kflg lgdf{0f – sfO{s] & 1400000.  

@* SofNaf] l5ld b]lv 5f]ª\ltl/ ;Dd 3]/faf/-kvf{n_ lgdf{0f 1200000.  

@( c/lgsf] df=lj nfO{ cg'bfg – sfO{s] @ 2500000.  

#) ;/l:jlt df= lj= nfO{ cg'bfg – sfO{s]  

 

200000.  

#! 6fj/ 7fpF ;f/L – sfO{s]  

 

500000.  

#@ cf}iflw vl/b :jf:Yo 

 

200000.  

## kmlg{r/ vl/b :jf:Yo 

 

300000.  

#$ e}k/L 

 

4300000.  

#% cfw'lgs r"nf]  

 

500000.  

#^ dlxnf ;+hfn 

 

200000.  

#& k|x/L rf}ls zx/tf/f  

 

20000.  

#* tf]ntf]n k'n lgdf{0f 

  

150000.  

#( 5]pj/ yfhfd k'n dd{t 

 

150000.  

$) b}ljs k|sf]k  

 

100000.  

$! lkj' sf7]k'n lgdf{0f 

 

500000.  

$@ zx/tf/f sf7]k'n lgdf{0f 

 

100000.  

$#= 5\of]8fvf vf]nf sf7]k'n lgdf{0f 

 

70000. 
 

 

$$ 

$$=s 

$$=v 

$$=u 

nIfLt ;d'x sfo{qmd 

dlxnf              #))))). 

afnaflnsf          #))))). 

1400000. 
 

 

 



$$=3 

$$=ª 

$$=r 

h]i7 gfu/Ls        @))))). 

ckf+u               @))))). 

blnt               @))))). 

hghflt             @))))) .    

 

$% xpjd{ sf7]k'n lgdf0f{ 120000. 
 

 

s'n hDdf  5,86,94,000.  

 


